
One Piece Elevating Footboard
THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE

AVAILABLE TO ORDER.



One Piece Elevating Footboard
THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE

AVAILABLE TO ORDER.
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
420145-1-NLA Tube, Frame, Footboard, Chrome (16") 1 11 D
1129510-NLA Footboard, Frame, Tube, Grey (16") 1 11 E

420146-1 Tube, Frame, Footboard, Chrome (18")  1 11 D
1129511 Footboard, Frame, Tube, Grey (18") 1 11 E
420148 Footboard - ABS (16") 1 12

420149-NLA NLA - Footboard - ABS (18") 1 12
420122-1-NLA Footrest Lower, Support Tube, Chrome (16" W) 1 13 D
1129525-NLA Footrest Lower, Support Tube, Grey (16" W) 1 13 E
420123-1-NLA Footrest Lower, Support Tube, Chrome (18" W) 1 13 D
1129526-NLA Footrest Lower, Support Tube, Grey (18" W) 1 13 E

1108128 Screw, Socket Button Head (1/4-20 x 1-1/2") 1 44
1025195 Locknut (1/4-20) 1 25

420131-1-NLA Adjuster, Leg (16") 1 16
420132-1 Adjuster, Leg (18") 1 16
1108134 Knob, Black 1 27

1132724-NLA NLA - Pin, Lift 1 18
1132722 Pin, Release 1 19

1108188-NLA Spring, Lift Pin 1 210
1108194-NLA NLA - Locknut (#10-32) 1 211

1108117 Spacer, Ribbed (25/32 x 1/4 x 7/8") 1 212
420182 Hanger Assembly, Telescoping, Chrome (16") 1 113 A,D

1131375 Hanger Assembly, Telescoping, Grey (16") 1 113 A,E
420183 Hanger Assembly, Telescoping, Chrome (18") 1 113 A,D

1129595 Hanger Assembly, Telescoping, Grey (18") 1 113 A,E
420112-1-NLA Hanger, Telescoping, Chrome (16") 1 113 D
1129523-NLA Hanger, Telescoping, Grey (16") 1 113 E
420113-1-NLA Hanger, Telescoping, Chrome (18") 1 113 D
1129524-NLA Hanger, Telescoping, Grey (18") 1 113 E
1108160-NLA NLA - Block, Glide 1 214 C
1108498-NLA NLA - Plug Button, Square, Black (1-1/4") 1 214
420147-NLA NLA - Handle, Chrome 1 115

420142-1-NLA Tube, Lower Support, Chrome 1 216 D
1129527-NLA NLA - Tube, Lower Support, Grey 1 216 E

1008882 Locknut (1/4-20) 1 217
350046 Cylinder, Lock 1 118

1108192-NLA Screw, Hex Head (1/4-20 x 1") 1 119
1108123-NLA NLA - Screw, Hex Head (5/16-18 x 1-3/4") 1 120
60290X002 Locknut (5/16-18) 1 121
60275X000 Locknut (1/4-20) 1 122
350038-NLA NLA - Cable 1 123

1035056-NLA NLA - Screw, Flat Head (#10 x 1") 1 424
1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 825

1108108-NLA NLA - Button, Lock 1 226
420174-25-NLA Pad, Calf, Lower, Mauve (16" W) 1 127



One Piece Elevating Footboard
THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE

AVAILABLE TO ORDER.
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
420174-26-NLA Pad, Calf, Lower, Grotto (16" W) 1 127
420174-27-NLA Pad, Calf, Lower, Blueberry (16" W) 1 127
420175-25-NLA Pad, Calf, Lower, Mauve (18" W) 1 127
420175-26-NLA Pad, Calf, Lower, Grotto (18" W) 1 127

420175-27 Pad, Calf, Lower, Blueberry (18" W) 1 127
1121008-NLA NLA - Screw (#10-24 x 7/8") 1 428 F

1072296 Footboard, Elevating, Mauve, Chrome (16") 1 129 B,D
1129606 Footboard, Elevating, Mauve, Grey (16") 1 129 B,E
1072303 Footboard, Elevating, Grotto, Chrome (16") 1 129 B,D
1129613 Footboard, Elevating, Grotto, Grey (16") 1 129 B,E
1072304 Footboard, Elevating, Blueberry, Chrome (16") 1 129 B,D
1129614 Footboard, Elevating, Blueberry, Grey (16") 1 129 B,E
1072297 Footboard, Elevating, Mauve, Chrome (18") 1 129 B,D
1129617 Footboard, Elevating, Mauve, Grey (18") 1 129 B,E
1072305 Footboard, Elevating, Grotto, Chrome (18") 1 129 B,D
1129615 Footboard, Elevating, Grotto, Grey (18") 1 129 B,E
1072306 Footboard, Elevating, Blueberry, Chrome (18") 1 129 B,D
1129616 Footboard, Elevating, Blueberry, Grey (18") 1 129 B,E

A - Includes items 7, 14 and 15.  
B - Includes items 1-28.  
C - Item no longer available, refer to Part #1108498.  
D - Before 1/24/05. For use on chairs with "Chrome Frame Finish."   
E - After 1/23/05. For use on chairs with "Grey Frame Finish."   
F - No Longer Available individually. See Category titled "Lateral Trunk Support" for Kit # HRA20K as replacement.  

NOTE:

 


